A market area near major road has serious road safety concern for pedestrian crossing. Two road safety
features (RSF) are proposed, one is A: Construction of steel foot over bridge and B: Improve pedestrian
crossing facility. Decide which road safety feature should be chosen based on B/C ratio and Net present
value. Following information is given:

Expenditure or cost

Steel foot over bridge (A) Improvement pedestrian crossing (B)
Foundation cost 4,00,000 BDT Road painting in one way 50,000 BDT
Concrete works 4,00,000 BDT Rumble strip installation in 10,000 BDT
one way
Steel works 8,00,000 BDT Road sign 5,000 BDT/sign
Finishing, painting, 2,00,000 BDT Flushing light installation 15,000 BDT/light
canopy and others -
Footpath improvement 5,00,000 BDT
(lump sum)
Guard rail installation 2,00,000 BDT

Benefit from accident reduction based on survey information and accident analysis

Original accident occurrence rate in 1,00,000 | Average accident cost (BDT)

pedestrian crossing as per survey report

Fatal 1 Fatal 5,00,000
Non-fatal injury 5 Non-fatal injury 50,000
Property damage only (PDO) | 10 Property damage only (PDO) 20,000
Probable accident occurrence rate in Probable accident occurrence rate in 1,00,000
1,00,000 pedestrian crossing after pedestrian crossing after improvement pedestrian
construction of steel foot over bridge (A) crossing (B)

Fatal 0 Fatal 0
Non-fatal injury 1 Non-fatal injury 2
Property damage only (PDO) 2 Property damage only (PDO) 6

Average pedestrian crossing volume = 2,000 person/day.










